7.5B SS diagram the flow of energy through hvmg systems including food chains, food webs, and
energy pyramids £ pr—

6.6A SS compare metals, nonmetals and metal]onds usmg physical properties such as luster,
conductivity, or malleability : ¥ i




What Category 1
Flashbacks on
STAAR Look Like

A student researching a northern forest ecosystem learns the following information about
feeding relationships in the ecosystem.

Northern Forest Ecosystem

+ Insect larvae feed on white spruces.

+ Shrews and snowshoe hares are prey for lynx, red-tailed hawks, and red foxes.
s Snowshoe hares eat both willows and white spruces.

« Shrews eat insect larvae.

« Red foxes sometimes eat insect larvae.

Which food web best represents the flow of energy in these feeding relationships?

Red foxes Red- taﬁed hawks
: Red foxes
Lynx Red-tailed hawks Lynx Sh’_\_“s /
A ’i Shrews T C

§
Insect larvae \ Snowshoe hares msect larvae
X ‘\\ \ Snov\.shoe hares \
Willow i Willows \ i

] White spruces White spruces

Red talled hawks Red-tailed hawks
-

L Red foxes / T \Shrew's

ynx Shrews Snowshoe hares l

B D Insect larvae
Irsect ar\.ae Red foxes
Snowshoe hares Lynx T

Wmows Whlte spruces Willows White spruces

Four students were given a list of compounds and asked to identify which ones are organic.

Which student correctly identified the organic compounds in the list?

F Student K
G StudentL
H StudentM

J Student N

Formula Student K | Student L | Student M | Student N
Cal Organic Organic
H,(OH), | Organic | Organic | Organic
Ca(OH), Organic Organic | Organic
CH, Organic Organic
NaCl Organic
| Gty Organic




METALS «
NON-METALS

Choose the correct
answer for each qyes’rion
\ on the Fo”owing page. Use
the color in the answer 1o

complefe the pic+ure.

© Tﬁ!‘%
CI’\OOSﬁ H’\ﬁ COFP@C.} answer {‘OF EBCI'\ Ueshoﬁ. USC %}\3 CO‘OF in JII'\G answer JfO Complﬁe ‘H'We PiC‘}UT‘S.
Non - mefals are good conducters of True false Hydrogen | Magnesium
1 ¢ 158 = n%
1 hedt Pirk L G 11 | Which of these is & non=melal? Orange Pk
, . Petals | Non —metdls Metals can be drawn info wires. They Sonorous Ductile
2 e }‘\EVE h}gl-\ mCHIng and bOl‘lng PD”‘#S» Or\ange DarthJc ]2 e Smd +G be o |_|g|n{' Biuc Re&
3 IH | oo ekals? Nore than 100 | About 20 13 Graphite and diamond are both forms True False
OW many eiements are hon-metals! Purple Yellow of carbon. DarkBlue | DarkGreen
Y Graphife is 2 non-metal that conducts True Felse 1y Which of these will be 5 good Copper Sulphur
EICC+PICE’Fy. Red Dar‘k Gr‘ecn COD&UC;‘DF‘ D‘F C!CCJFP!CIJEY? Plhk Orangc
5 Petels can be hammered info shape. We Dense Mallesble I5 All metals are salids al room True False
say that they are ... Yellow | Dark Green femperature. lightGreen |  Yellow
Caleium Argon When metals are mixed fogether they Alloys Cryslals
" i 9
o |Vl thesbatca] DarkBlue | Red || 1€ | ... DarkCress |  Prik
? Which non—metalis 2 [mhuid af room Flucrine Bromine 1.{. All el caned True False
femperature? Orange | Light Blue melels gre magnetic. Yellow Purple
All ron=metals are oases at room True False Tedine Mercury
b N non— ?
9 femperature. DarkBlue Pink 16 | Whiohiof Hhess s rerrtneld Light Green Red
R i Low ﬁ;gh o Brittle Malleabls
9 | Non-metals have ... boiling points. Purple Red 19 | Non=metels fend to be . .. gtBs | Oy
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For an investigation a student records date about four unknown substances.

Data for Unknown Substances

swsrce | Mx | Voge | o
1 6.95 4.0
2 4.54 2.0
3 5.40 3.0
4 10.35 5.0

The student then calculates the densities of the unknown substances and compares them with
the table of densities of known substances shown below.

Densities of Some Known Substances

Density
Substance (g/cm?)
Calcium 1.54
Carbon 229

Magneéium 1.74
Phosphorus 1.82
Platinum 21.46
Sulfur 2.07

Which unknown substance is most likely carbon?

A Substance 1
B Substance 2 Some students conducted a laboratory investigation to learn more about the physical
properties of different elements. They observed four samples and recorded their sbservations
C Substance 3 in the table below.
D Substance 4 Properties of Four Elements
Sample Appearance FPhysical Properties
* Dull
* Yallow

* Powdery solid
* Smelis like eggs
* Broken by hammer

Silvery-gray

Solid

Shaped into a bar
Dented by hammer

5]
- % & @

* Reddish-brown

+ Shiny solid

* Shaped into a2 wire
» Can be stretched

» Dented by hammer

s Silvery-gray

* Solid

+ Small round pellets

s Flattened by hammer

Based on these observations, which sample is most tikely a nonmetal?
F Sample 1
G Sample 2
H

Sample 3

(=)

Sample 4




> NOT easily .

products are formed. =

> > Formation of

melting wax

Mark each of the following

with a “C” for a chemical change
or a ‘P for a physical change.

water boiling
baking bread

tearing paper

How can you tell?
2> They are offen just a
> > They con be easily

products are formed.

change.

cause color change.

wire is bent

metal rusting

wood burning silver Tarnishing

ice _\j@_ij@ breaking an egg

breaking glass frying an egg
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A substance that cannot be
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the same nunﬁbe_r of

means An elemen‘r is composed of

‘in their
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__ that have

Every element has a unique
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, same number of
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using a unique of one
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Caftegory 2
' Day 1

6.8A SS compare and contrast potential and kinetic energy

6.9C SS demonstrate energy transformations such as energy in a flashlight battery changes from
chemical energy to electrical energy to light energy




Four students were asked to dassify the activities of the people in the picture below as| In the classroom demonstration shown below, a rubber ball is dropped from Position 1. The
examples of either potential or kinetic energy. ball bounces as shown,

%
\ \‘
\
o ‘C‘j)\a =
Yoo F
e |
.y
Which student correctly classified the activities? grf)p 1
eight 5 "
i \ Bou
Student 1 Student 3 1 h;g;fte
Activity Classification Activity Classification 1R
Observed of Activity Cbserved of Activity 1 : p Y
Girl SWIMMINg 1 ptential energy Girl swimming §y;etic energy i '
laps laps 5 Ly
F Bo = 7 1 - N
y on diving fieo e Boy on diving | ... i h
Ginid Kinetic energy bioard Kinetic energy
Girl hitting B ol Girl hitting o At which of these positions does the ball have bath the greatest kinetic energy and the least
volieybatl Potslitial energy volieyball Polaitiel energy potential energy?
Boy holding - Boy holding ek )
volteyball Kinetic energy volleyball Potential energy i 5 Position 1
B Position 2
Student 2 Student 4 C Position 3
Activity | Classification Activity | Giassification ] D Position 4
Observed of Activity Observed of Activity
gi;;sswimming Potential energy Eg;swimmmg Kinetic energy
G [Bay on diving Boy on divin
P ot Y. ] i .
] otential energy Gwara Potential energy
Girl hitting s Girl hitting A )
volleyball Kinetic energy volleyball Kinetic energy
Boy holding Kb elE pne Boy holding boekis
volleyball netic energy volleyball Potential energy

A student drew the diagram below to show the movement of water through a hydroelectric
dam.

Hydroelectric Dam

Water Level 1
et ™ ™
i @ Powerhouse

- e : Dam ———ﬁ

_Waterlevel 2 Transmission lines
- Generator

" { gon
..‘.-,-:.‘i §§n --——.) ; S

%Eg XPenstock—y . Y ;
- ' Turbine River

L Sy @

The student used the diagram to describe changes in the potential and kinetic energy of the
water. At which location is the gravitational potential energy of the water the greatest?

Location W
Location X

Location Y

0 A w o p

| ncation 7
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EIEGTRICAD M ERADIANTE NIGIIEMIGATN ! IE

! ;D - -
Energy made available Energy carried by aaueo.... Energy stored in the bonds Energy stored in an object
through the flow of and other types of of chemical ....neeuun.... when it iS oo eeee
BlEEINIC covunnimunnn: == [ |1 cisrmavsmmmmmemmmesmmwos that is released (o] o .
througha /7 /[ / NJI || -eememmmeee. during certain like in a spring

or rubber
band.

Energy of an object or a

.............. due to its ToTTmmmmT
&
Y}
O ~)
Energy released Energy of an object
TV Y (| v due to the ............
or join together (.......... energy of it cevecee-..
NUGEEARE I GLEIERMAN

/

\>

s

A

Energy an object has
due to its

lllllllllllll

2/

N

Energy of an object
due 10 itS cceeceeen position
compared to a
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Average Speed Puzzle

Joey, Isabella, Marcus, Natasha, Jerome, and Angela all start walking at the
same time, but all six walk a different distance in a different amount of time.
Use the clues below to find their distance traveled and total time. Then,
calculate each student’s average speed.

Distances traveled: 40 m, 85 m, 25m, 10m, 30 m, 60 m
Total time taken: 60s,125s,155s,1205s,10s,30s

1. Marcus did not travel the greatest distance

2.Joey traveled a greater distance than Jerome

3. Angela finished before Natasha

4. Isabella took twice as long as Natasha

5. Joey had exactly four times the average speed of Isabella
6. Natasha had a greater average speed than Angela

7. Marcus went 1/4th as far as Angela

8. Marcus finished before Joey

9. Angela’s average speed was greater than 1.0 m/s
10. Angela finished before Natasha but after Marcus
11. Marcus’ time was 1/10th that of Isabella’s

12. Natasha traveled a greater distance than Joey

13. Jerome’s average speed was greater than Joey's

distance : total time average speed

Joey

Isabella

Marcus

Natasha

Jerome

Angela

© 2014 The Science Vault - for purchaser’s classroom use only. Please do not redistribute.



Caftegory 2 Day 2

Some students were investigating the speed of a toy car they built. They performed
two trials and recorded their data in the table below,

Toy-Car Trials

Trial 1 Trial 2
Time {s} |Distance (m)] Time (s} |Distance (m)
2.0 5.8

.0 7.0

193]

What was the average speed of the toy car during the two trials to the nearest tenth
of a m/s?

Recerd your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.

The diagram below shows a hot air balloon rising. Propane gas tanks are seen at the bottom
of the balioon.

Flame

Propane gas

What energy transformations occur when propane gas is used to lift the balioon?

A Mechanical — light —» chemical

Thermal — chemical -—» light this 5-minute period?

o O

Chemical — thermal — mechanical

-n
Speed (m/s)

- .

Time {min)
w
S
£
G 3 3
5]
&
Time {min}

A car travels at a constant speed of 15 m/s for 2 minutes. The car increases its speed from
5 4 i { 3

Clisricat < FaERanical —s Bieral 1i5to 25 sles during -the next mmute_ and then travels at a constant speed of.ZS mjs,_ for

2 more minutes, Which of the following graphs best represents the car’s motion during

Speed (m/s)

Time {rnin)

T —

Speed (mM/s)

Time (min)
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Bia?es Rotating
\ blades
"\ turn rotor in Generator
generator //

Wind Turbine System

4

Energy moves

through power lines

Wind energy\_ 3
turns A fEnergy movtes
blades of rom generator
wind into‘ power -—--)_r i
turbine lines 5

' 4

Power in

L

2_Ja ]

Power lines |

5

Energy from
power lines
causes filaments
in toaster to
glow red

h—ﬂ—t—-—ni)»

In the diagram above, a wind turbine is transforming energy from the wind. Between which
two steps in the diagram is mechanical energy being converted into electrical energy?

1and 2
2and 3

3and 4

T O W P

4and 5

When a lion eats a zebra and then uses the energy from the zebra to run, the lion’s body

converts —

chemical energy to mechanical energy
electrical energy to chemical energy

chemical energy to light energy

o B o T+« B - |

mechanical energy to chemical energy




Name Date

Distance and Time

Distance and Time

w
wn

N w
U o
+
|

/ \

=
A

Distnace from Home (in Miles)
[ N
[ o

0 1 2 3 4 5 6 7 8 S
Time (In Hours)

You are driving to deliver a packages to two friends , one of whom lives 25 miles away and the other of whom
lives 10 miles away. The above graph shows your distance and time during the journey.

1) How farare you from home at the following times?
Times ( Hours) Distance (Miles)

(

1
2
3
4
5
6
7
8

2) Highlight the section of the graph between zero and one hour.
a. How far did you travel?
h. How long did it take?

3) Use a different color to highlight the section of the graph between one hour and 3 hours.
a. How far did you travel? (25-5)

({{ By S. Silverberg



4)

b. How long did it take? (3-1)
Use the same color highlighter you used for question 2. Highlight the section of the graph between 3 and 4
hours.
a. Does your distance change?
b. What does that mean?

Use the same color highlighter you used for question 3. Highlight the section of the graph between 4 and 5
hours.
a. How far did you travel?
b. How long did it take?

Use the same color highlighter you used for question 2. Highlight the section of the graph between S and 6
hours.
a. How far did you travel?
b. How longdid it take?

Use the same color highlighter you used for question 3. Highlight the section of the graph between 6 and 7
hours.
a. Does your distance change?
b. What does that mean?

Use the same color highlighter you used for question 2. Highlight the section of the graph between 7 and 8
hours.
a. How far did you travel?
b. How long did it take?

{{{ By S. Silverberg



Speed and Time

Speed and Time

Speed (MPH)
¥ 88588 3
N
\\%_

[aey
o o

N

0 1 2 3 4 5 6 7
Time (Hours)

You spend 6 hours practicing for your upcoming road test to get your drivers’ license. The graph above shows
the speeds you traveled at various points throughout your drive.

9) How fast are you going at the following times?
Times ( Hours) Speed (MPH)

| =] WM

10) Highlight the section of the graph between zero and one hour.
a. Did you accelerate, decelerate, or drive at a constant speed?

b. How do you know?

11) Use a different color to highlight the section of the graph between one hour and 2 hours.
a. Did you accelerate, decelerate, or drive at a constant speed?

b. How do you know?

12) Use the same highlighter you used for question 10. Highlight the section of the graph between 2 and 3 hours.

a. Did you accelerate, decelerate, or drive at a constant speed?

b. How do you know?

13) Use the same highlighter you used for question 11. Highlight the section of the graph between 3 and 6 hours.
a. Did you accelerate, decelerate, or drive at a constant speed?

b. How do you know?

{{( By S. Silverberg



April 9™

Expectations:

Respect the materials- the games are a TEST grade for the students who made
them. They have to present them at a show.

Stay in assigned area
Classroom level voices

Constructive criticism only






Which of the following best explains Earth’s motion?

touches Earth.

attracts Earth.

An object will continue moving in a straight line unless it is acted on by an unbalanced force.

F There is no unbaianced force acting on Earth because space is empty and nothing

G The gravitational force pulling Earth toward the sun is equal and opposite to the force
pulling the sun toward Earth, so there is no unbalanced force acting on Earth.

H The sun moves in an elliptical orbit around Earth, and the sun’s gravity pulls Earth along.

J Earth moves in an elliptical orbit around the sun because the gravitational force of the sun

A student drew the model below to represent a part of a watershed and some human
activities that affect the watershed.

Part of a Watershed

Percmétib_n

GreundM/

w—'—“—p—’»—

i

How do the industrial, agricultural, and residential activities of humans most likely affect the
groundwater in the area?

F The activities prevent most of the water from evaporating into the atmosphere.
G Pollutants from the activities percolate through the soil and enter the water table.
H The activities replace the groundwater used.

3 All of the above

nvestigation shown below,

Water is poured through
a coffee filter soaked
with food coloring.

PYVY

=
Clear plastic cup ——»\=
filled with gravel

«——— Coffee filter

The colored water
flows through the
gravel and out
the drain hole.

Drain hole

The movement of colored water through the gravel best models —

F condersation of water vapor
G surface runoff of precipitation
H conservation of water

J  pollution of groundwater




Watershed 7.8 C

VIdeo NOtesz https://www.youtube.com/watch?v=z2v07Vnd5Gl

Watershed:
Ex:
*
Aquifer:
Ex:

@ Edwards limestones

PSRRI, ‘
relatively impermable g
G oider formations 2 - EB;COHES\
e | FALIK Zonie

_Typical Cross-Section of the Edwards Aquifer
Drainage Area
“’3;7 AL s 1 Recharge Zone
S i / Artesian Zone
f \ Y ¥ 7:, g“:_ : - T - - -
Edwards water N (I ‘.e,{x‘%% SR bl
table aquifer water table spring T (e ORI ek S SN s
 Rp ™ artesian spring B
; & 3 f d* .': 5 M : I, e
land surface : S D P artesian weli
D relatively impermeable B Mt A
younger formations R oe*

e
Edwards
artesian aquifer

1: Drainage area:
2. Recharge zone:
3. Aquifer:

* Pollution in and

would pollute

. This matters because:




How does human activity affect the watershed?

Pollution:

*fertilizers~

*waterparks~

*oil and gasocline pollution

~parking lots/highways

Water conservation~

Not in video: DEAD ZONES (draw the diagram and
explain)



B

7.10C observe, record, and describe the role of ecological succession such as in a microhabitat of a
garden with weeds. +

7.11A examine organisms or their structures such as insects or leaves and use dichotomous keys for
identification;

7.11C identify some changes in genetic traits that have occurred over several generations through
natural selection and selective breeding such as the Galapagos Medium Ground Finch (Geospiza
fortis) or domestic animals and hybrid plants.

7.12B identify the main functions of the systems of the human organism, including the circulatory,

respiratory, skeletal, muscular, digestive, excretory, reproductive, integumentary, nervous, and
endocrine systems;

7.11D differentiate between structure and function in plant and animal cell organelles, including cell
membrane, cell wall, nucleus, cytoplasm, mitochondrion, chloroplast, and vacuo!e;

7.14B compare the results of uniform or diverse offspring from asexual or sexual reproduction; and

7.14C recognize that inherited traits of individuals are governed in the genetic material found in the
genes within chromosomes in the nucleus.

2

6.12 identify the basic characteristics of organisms, including prokaryotic or eukaryotic, unicellular or

multicellular, autotrophic or heterotrophic, and mode of reproduction, that further classify them in the
currently recognized kingdoms.




Some students collected leaf samples. The students used the leaf identification key shown

below to identify a leaf sample.

Leaf Identification Key

Step Characteristic Spedies
la Simple feaf {single leaf) Goto 2
ib Compound leaf (feaves grouped on & stem) Goto S
23 Leaves directly opposite on twig Gote 3
2b Leaves not directly opposite on twig Goto 4
3a Leavss with S lobes Sugar maple
3b Leaves with 3 lobes Black maple
4a Leaves that are fan-shaped Ginkgo
4b Leaves that are star-shaped Sweel gum
S5a Leaves arranged like 2 fan Horse chestnut
ch Leaves directly opposite on stem Honey locust

Based on the identification key, which type of tree is this sample from?

.| F Ginkgo

G Honey locust

H Horse chestnut

J  Black maple

A student examines the winged insect shown below.

Dichotomous Key

Step Characteristics Crder

la | Insect has an extremely long prothorax (neck) | Go to 2

1b | Insect has a short or no prothorax Goto 3

2a_| Forelegs come together in a “praying” position | Mantodea

2b Forelegs do nat come tegether in a “praying” Raphidioptera
position

3 Wings are armor-like with membranous hind | Coleoptera

2 | wings underneath

3b | Wings are not armor-like Go to 4

42 | Wings are triangular in shape Goto S

ab Wings are not triangular in shape and head is Mecoptera
elongated

53 Insect lacks a proboscis {long, slender snout) | Ephemeroptera
and has long filaments at abdominal tip

sb Insect has 2 proboscis and lacks long Lepidoptera
filaments at abdominal tip

F HMantodea

H Coleoptera

J Lepidoptera

G Raphidioptera

Based on the dichotomous key, in what order should this insect be classified?

8 The white-tailed ptarmigan lives at high elevations on mountains that receive a lot of snow in
the winter. During the summer, the ptarmigans’ feathers are mottled brown. The birds lose
the brown feathers and grow a new set of white feathers during the winter. Scientists are
concerned that rising global temperatures will affect the white-tailed ptarmigan.

White-Tailed Ptarmigan in Summer
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White-Tailed Ptarmigan in Winter

& BradWolfe/iStock, Thinkstock

If global climate change leads to the elimination of snow in the habitat of white-tailed
ptarmigans, which adaptation is most likely to occur over many generations?

F  Birds with white feathers in areas without winter snow will be easier for predators to find.
Over time this could lead to white-tailed ptarmigans that have brown feathers throughout

the year.

Birds with brown feathers in areas without winter snow will be easier for predators to find.
Over time this could lead to white-tailed ptarmigans that have white feathers throughout

the year.

Birds with white feathers will be easier to see on the ground in the summer. Over time this
could lead to white-tailed ptarmigans that have white feathers throughout the year.

Birds with brown feathers will be easier to see on the ground in the winter. Over time this
could lead to white-tailed ptarmigans that have brown feathers throughout the year.




Flashback Dichotomous Keys 7.11A

Help! Scientists have discovered quite a few new creatures on planet Pamishan. They

need your help to identify and classify them. Use the dichotomous key on the next page to
identify these creatures.

i =

16.




1.

10.

i a8

2.

13

14.

15

16.

17.

18.

19.

A Key to New Pamishan

a. The creature has a large wide head...... EREiEs Y =L o T o J

b. The creature has a small narrow head.......... Ceereaeeas DR go to 11

a. It has 3 eyes t.viviiiinriienencnnnnnnn. CiBRYREERY NS sessssasssB0 tO 3

b. Tt has 2 Y88 sevesvssrussvvses s CTITIIITIY YEEREEEAG cereee.ag0 to 7

a. There is a star in the middle of its chest............. veres..B0 to 4

b. There is no star in the middle of its chest .............. ....go0 to 6

a. The creature has hair spikes ............ I iiEesvEss Broadus hairus

b. The creature has no hair spikes............. sesiseaissiansarsago to 5

a. The bottom of the creature is arch-shaped ........... «es......Broagdus archus

b. The bottom of the creature is M-shaped .............. «=vsveq.Broadus emmus

a. The creature has an arch-shaped bottom ............ T R T T . .Broadus plainus

b. The creature has an M-shaped bottom.............. veeeensenes.Broadus tritops

a. The creature has hairy spikes ........... sEsEsEETNEE s ceeves..g0 to 8

b. The creature has no spikes............... FEiEFEINES ceeevese.. g0 to 10

a. There is a star in the middle of its body ........... oo mw s Broadus hairystarus
b. The is no star in the middle of its body .........e000vvvee. .0 to 9

a. The creature has an arch shaped bottom ............... «e+.....Broadus hairyemmus
b. The creature has an M shaped bottum ....... Si¥iidieilts «+«.....Broadus kRiferus

a. The body is symmetrical .......... vencesvines ciievisEEsEs .+...Broagdus walter

b. The body is not symmetrical........ CREFEEVEEEET SEHEEEEEELLY Broadus anderson
a. The creatrue has no antennae ................. ESSF UG n et nunand go to 12

b. The creature has antennae ....... Ceeeeeeeeaa Cecenenens e iese s B0 to 14

a. There are spikes on the face ........ CERIENS VS HSENEEREE «+es...Narrowus wolfus

b. There are no spikes on the face ......ccviviviivvnnnnnne. idiinaa ..go to 13

a. The creature has no spike anywhere ................ cveeveses.Narrowus blankus
b. There are spikes on the right leg ..ivvvriiririnrinrnnennnnnn. Narrowus starboardus
a. The creature has 2 eyeS...vieeuunn. SEEsssEEss SrARNIRENSEEULAa go to 15

b. The creature has 1 eye..... Vissiad EE3Rianiien vamsemas st nyen Narrowus cyclops
a. The creature has a mouth...... T FEESESEFEEE ..g0 to 16

b. The creature has no mouth...... FEESEERES PEEEEEE e sesssssvesaseB0 to 17

a. There are spikes on the left leg ............ CesrsantansaEEn e Narrowus portus

b. There are no spikes at all ...vvviviennnnnnnn, veenseerssessssNarrowus plainus
a. The creature has spikes ............. CENEEEEES YRS PETEIEEEEAEE S go to 18

b. The creature has no SPikes civissssssssssssssssnsnnnans «eeee..Narrowus georginia
a. There are spikes on the head ................ I ceresea.go to 19

b. There are spikes on the right leg........... seeeeeessenasessNarrowus montanian
a. There are spikes covering the face ......... {E358855%3 «vvees.Narrowus beardus

b

There are spikes only on the outside edge of head ............Narrowus fuzzus



CATEGORY 4 DAY 2

Both primary and secondary succession begin with pioneer species that —

A

B
C
D

change the area and make it safer from predatory organisms
invade the area so that new organisms cannot be established
modify the area and allow larger and more complex organisms to appear

use up all the existing resources and prevent establishment of non-native organisms

The focd webs below model! relationships among the organisms in two ecosystems,

Forest Food Web

Which ecosystem would be more fikely to survive if 2 disease killed the grasses?

The forest ecosystem, because most of the animals can eat other arganisms
The gressland ecosystem, because several predators compete for food

The forest ecosystem, because it has three top predators

o 0 v P

The grassland ecosystem, because it has many herbivores

producer species helps ensure abundant prey for predators in the ecosystem.

organisms will survive an ecological disaster.

F The presence of more species with different adaptations makes it more likely that some
survive a disease outbreak.

Tropical rain forests have the greatest biodiversity of any type of land ecosystem. How does

biodiversity contribute to the sustainability of an ecosystem?

H The presence of a variety of herbivore species that can feed on a large number of different

G Greater genetic variation within species makes it more likely that some individuals will

J All of the above




Ecological Succession 7.10C

Video: https://www.youtube.com/watch?v=ugEUzgVAF6g

https://www.youtube.com/watch?u=555EG8Vzs |

Primary:

Secondary:
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A diagram of a plant cell is shown below.

Plant Cell

The functien of the plant cell structure shown in the enlargement is to —

Which table correctly describes the functions of the cell structures listed?

Cell Structure

Function

Vacuole

Stores water

F | Chioroplast

Removes waste

Mitachondrion

Produces sugar

Cell Structure Function
Vacuote Stores water
Chloroplast Produces sugar

Cell membrane

Regulates cell

Mitochondrian

Canverts energy

Cell membrane

Regulates cell

contents
Cell Structure Function
Vacuole Removes waste
Chlaroplast Converts energy

contents
Cell Structure Function
aiisle Regulates celi
G contents
Chloroplast Produces sugar

Mitochandrion

Produces sugar

Mitochondrion

Stores water

Cell membrane

Converts energy

Cell membrane

Regulates cell
cantents

A provide support for the cell
B direct all the cell’s activities
C use energy from sunlight to make sugar

D regulate substances that enter and exit the cell

Which list of charact

F Unicellular, prokaryotic, autotrophic

G Multiceliular, eukaryotic, heterctrophic
H Unicellular, eukaryotic, heterotrephic
3 Multiceliular, eukaryotic, autetrophic

ristics describes organisms classified as animals?




An Animal Cell
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Cell Type Cell Type
Size of Cells Size of Cells
Nucleus , Nucleus
DNA Structure %)0 DNA Structure
DNA Location DNA Location
Reproduction Reproduction
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: > L \.,J — A group of students prepared a table listing the types of reproduction that occur in several

,} \ y" r‘] Organism Type of Reproduction
f
é%g }Av ﬁ Amoebas Asexual reproduction

organisms.

Yeasts Both sexual and asexual reproduction
Cats Sexual reproduction
Hydras Both sexual and asexual reproduction
Frogs Sexual reproduction
Ferns Both sexual and asexual reproduction

Based on this information, which of the organisms can produce offspri ing that are gensticaily
identical to the parent arganism? .

F  Ferns only
G Amoebas and yeasts only
H

Cats, hydras, fregs, and ferns only

—

Amoebas, yeasts, hydras, and ferns only

A

B
C
D

Three cousins have a similar appearance but different face shapes.

Which of these cell components are most involved in determining the basic shape of each
girl’s face?

Genes, chromosomes, and nucleus
Cytoplasm, chioroplasts, and genes
Vacuoles, nudleus, and chromosomes

Chromosomes, chioroplasts, and vacuoles

time.

Certain species of whiptail lizards have only female individuals and no males. These lizards
reproduce asexually. What is one disadvantage of asexual reproduction for these lizards?

A A new population can be established by a single individual in a relatively short period of

B All the members of a population are genetically very similar and less able to survive
environmental changes.

C They are smaller than lizards that reproduce sexually.

D They are more likely to develop a variety of tail lengths.




7 When Charles Darwin visited the Galdpagos Islands in the 1800s, he observed many types of
organisms that were similar but lived on different islands. The four species of mockingbirds
found on the Galapagos Islands are shown below. Each species lives on a different island.

Chatham
mockingbird

Galapagos
mockingbird

Charles
mockingbird

These species are very similar, but the Hood mockingbird has a longer beak than the other
three species. Which of the following best explains this difference?

A The Hood miockingbird needs a longer beak for defense against predators.

B The Hood mockingbird originated from a different type of bird than the other species.

9]

The Hood mockingbird’s longer beak is an adaptation to the food available in the bird's
habitat.

D The Hood mockingbird's beak stretched to reach its food, and the longer beak was passed
down to its offspring.

Surface Area in Some Lake Victoria
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r\ (CHANGE IN SPEED

WHAT IS A FORCE?

Forceis a ora
that causes an
object to change :
change ,orto
change or

It is measured in

CHANGE IN DIRECTION

.\ )\ N

CHANGE IN SHAPE OR SIZE

If the forces acting on an

are in the same NET\\
they FORCE\ |

<:| Qoge’rher fo form the net force. :: Net force is the

of all of the
L @forces are in ) forces
A directions, the net force is the on
between the an objey
two forces.

BALANCED FORCES UNBALANCED FORCES \

Forces are said fo be “ ” @ Forces are said to be ”
if theireffects______each other @ if their effectsdonot___ each

and there is no in the other and there is o in
objects speed or : @ the objects speed or :
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IS FORCE?

Name: Date:

1. Label each diagram as
balanced or unbalanced.
S —
25N 25N

A:

44— —
35N 25N

B:

44— —
25N 25N

-,

2. A book sits on a table. Which of the following is true?

a. The forces acting on the book are balanced.

b. The forces acting on the book are unbalanced.
c. Gravity is the only force acting on the book.

d. The net force acting on the book is 3N.

3. The standard unit for force is

a. grams

b. Newtons
C. watts

d. m/s?

4. Which of the following changes when an unbalanced force
acts on an object?

a. mass
b. motion
C. inertia

d. weight

4. An object that experiences a push or a pull has a(n)
exerted on it.

5. Forces may cause an object to change ifitis
unable to move.

6. is the force that pulls everything down
towards the earth.

7. If two 4-Newton forces act on an object in the same direction,
what is the net force on the object?

8. What is the net force and in which direction for the diagram
in question 1B?




An object at ______ stays
OF e and an object in
How does this jump ; s
illustrate the lst Law? = . s‘l‘ays P e
with the same _________ -

and in the same
unless
acted upon by an

0 b et e e et T

an object ____________ with
increased _________ ;
decreases with increased
e @nd is in the same

as the

'FOPCB. F = M X A

How does pulling an empy
box versus a full box
ilustrate the 2nd Law?

When one object exerts a

_________ on another object,

the second object exerts an
and

force on the first object. -

Action - ____________ forces.| |

How does pushing against a
wall illustrate the 3rd Law? 1

| | | ¥ X i | I ;| ‘ljy




SHOW =

2. Which of the following would change when an unbalanced
force acts upon an object at rest?

a. the object’s mass

b. the object’s weight

¢. the object’s motion
NEWTON S 3 LAWS d. the object’s density
1. Identify the Law from

i 4 _ 3. How quickly an object accelerates would depend upon what
the given illustration.

two things?

a. weight and mass
b. force and mass
¢. motion and mass
d. none of these

4. Forces that do NOT cancel each other out are known as
forces.

5. Newton’s 3rd Law deals with Action -
forces.

6. Magician’s often use the trick of pulling a table cloth out
from under a table full of dishes without moving the dishes.
Which law would this be an illustration of and why?

7. When you are standing on a bridge, you are pushing down
on the bridge but you don’t fall through (hopefullyl).
Which law would this be an illustration of and why?

Same force,
: less acceleration,
’ 8. When shopping, it is much easier to push the empty shopping
g > cart than when it begins to fill up. Which law would this
" : :
Same T be an illustration of and why?
more acceleration.

Vn —>
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FORMULAS
mass .

= o
PEE volume z
total distance )

A _ lotal distance 4
verageEpesd total time :

Net force = (mass)(acceleration) .

et
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STAAR GRADE 8 SCIENCE
REFERENCE MATERIALS

FORMULAS

mass

Density =
volume

S T S T R ST 1T S S N s, oty B o TR msrmE

total distance

r =
Average speed total time

B = R N TR e S S o

Net force = (mass)(acceleration) F = ma

e TS A s S r T R mentE e e " ]
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STAAR GRADE 8 SCIENCE
REFERENCE MATERIALS

FORMULAS

. _mass _m
B0SIny = volume b= v
total distance d
Average spee total time t
Net force = (mass)(acceleration) F=ma




